Teachers:

Question #2: the LCD is 12, however, students may try to use 24.  Use that question to review why the LCM is not always the product of the two denominators.

Question #4: The LCD is one of the denominators from the problem (8).

Name:__________________________________________________________ Class:___________

Directions: Add or subtract the fractions below.  Simplify your answer.

1. 3/4 - 1/5 = _______________________


2. 3/4 - 1/6 = _______________________

3. 3/7 + 1/2 = _______________________


4. 5/8 + 3/4 = _______________________

5. 1/8 + 2/3 = _______________________




Directions: Identify the important information.  Create your equation.  Show your work.  Label your answer.

9.  While shopping Ms. Richards fills up a bag with 2/3 lbs. of apples.  Her mom calls her and asks her to grab 2 more apples to add to the bag.  The 2 extra apples weigh 1/6 lbs.  How much does the bag of apples weigh in total?

Show your work:
Answer:_________________________________
10. Wayne has  1/3 oz. of candy.  Kayleen has 5/8 oz. of candy.  How much more candy does Kayleen have compared to Wayne?
Show your work:
Answer:_________________________________
